HLHEY 4 E B E B 22 g£E
i JEE | 35 2% PELHIR 837-842 e 10a MRS
ARETEHE(1F 350kg[ A FEH T B (1 ERK) kgl AEEETEHAEQCER) 350kg| AEHEHIfT & (2F/A) kg
£ 2 {E % o
BAEZE %] b it il i
HER T E H B [EEFES [BmE/10] 3 B | EEEE [BAR/10a [[REE = JEEL sy (N-P-K- )
2 1 iR 53-2-1
3A27A | 418 10 2fi2tf ] 1 100kg— FRL A 8= 6- 6
2001 3 THRHE{ER 5-4-9 15-14-9
—E R 3HA4H 2 100kg|— ~ T 15- 8(Mg)
H H 5 iz 21
Hﬂ p| Y19 3 67kel— EAN) 2-30
A A ke 7 BHE100XL b 5-7-4
BEREE H H 8 BALA AR 7 LAY H35%
5 Lig g ke 9 TISY JE HE 50~ 60%
: H H A B ke SEH FEHN A4 1 1 R4 CUIEN SRR
AR L 1 H—F7ar 7 )L T NT = 2000 21
A A f K 2 F—vronar 7 N aABTES 750 14
E H A 83 [T uomRAasl TSI 2000 7
L A H K 4 ~vAha—x7uar7T 7V TN = 1000 14
T E & 5 ~ T FLA N RN 2000 7
5 H H A A K 6 AT FHARELH AT T) R 1000 14
H L & 7 TIAZ—KFA] | ~vF AV T A G280 1000 14
r ¥ I 8 TIAI L TRV R — K FN IR 500 30
ey A H & HAL—F LA 27 A =54 | 4000 7
A L A g ke 10 VA AKFA H TN = 1000 14
g 1 Zar P ARSC KNP, TRaU A = 2000 14
H H q A K 12 77 a HLE A A I 2000 14
HL 0 7E L 813 | ro~Atvar o | eV UA T =, XU | 1000 14
A A & kg 14 YL Sh—LME 2095, BTN 2000 14
i H H 15 7 77— AL NeX AT A 1000 7
L 16 IRAV R IKFRFA] % 3000 14
FDMDIEE/ LR EIH







